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L. Cwpnupwiu dhonguty, ubipynifu wpw- | Gunhltigunn vhong' mbipunjy
qugutyn jud utipuiyniptnp $hputym | wpmunpnipju Uty
dhongutn tn wy] wypwiupubp nt yunn- oguwgnnpdynn
nuunh wpbtywpuunutn (ophuwy'
wuuwu m fjuwdwwndwu uyniptp), (nmpphu,
3809910000 npntp hpunynud b Uq 360 Anynuphuw 190 800
dwiwdwgnpowlwiy, pneh, Jupyh
wprynuwpbpnipju Uty Jud
unyuwiidwu Ggmntpmud” wy) wtmnud
supywd Guud spungpljywd
2. Udhuwuntihhnuyhtu jutidtp, Uhjhynu ulgpughn diny* @mpphu
3910000008 | $hunjuunthhnuyhu futdtp ta wbipuinh] wipmnunpnipywiu Uty Uq 360 P\mmulphl;.l 383 400
wnhniptpwiiutn’ uhgpuuljwiu atatpmy. | oquwgnpoynn
3. 3926909709 | Uj wpunwnpumntuwljutp' Nuundwuuwghg Jujuhsutip lq 10 000 (dnmpphu, 19 400 000
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ujuundwuuwghg b wy) wniptnhg hwgmuwnh hudwp Bnnuphw
Utnnwpujw ply) (puugh dbnwputs (tin hwgnuwnh
puthniubiph dwiui]wdphg) dwupwdwiu | wpmumpnipgwit hudwn” 60% —

5004009000 | JuGunph hwiiwp spudubidpupyud” 85 | dtnwputi U 40% pundpult Uq 1200 p\Ill[I[UJ[ll‘ll,u 46 860 000
% quiuguowghu pudhu Jud wytgh dwupwyetytimh
pnh yupmuwynipjudp wupmuwynipjuldp
Uwiipugqud ppryu dwijwdp” Ppyw dwiujuidp' phy Punwpu

5107109000 | dwupwowju wnbnph hwdwp hwgmuwnh wpnunpnipjuu Ug 1000 [lmlflwllh:u 16 000 000
spudutiopupyud hudwn
Puipuljti wujwdp (puugh Juph Pudpulju phy dhush 85 %
pltnhg) puipwbh dwiupwetytph 85 % | wwpniuwlmpjunip (pundpul
quiugyuouwghu pwduhg yuljuu 70%, wnihwdhn, 15%, pnipr, 10%,
wunmiuwmpudp” dwipwdwfu Ejuuwmnwiu 5% ) hwgniuwnh
Jwwnph hwdwp spudutiopupud. wpununpnpjwu hwdwp
vhwyely twuwodph hudwn 232,56 huwihw,

5206430000 nbightbipupg upwluu, puyg 192,31 Uq 5000 Pnynuphu 51000 000
tighuntipuhg n wwiljuu gouyhu
funmpjudp (Uhwply dwuywoph hudwn
Utnpujuiu
43 hudwphg pwpap, puyg 52 hwdwphg
ng pwnap)
Fudpuljti dwuwdp (pugh Yuph Fundpulpu ety dhush 85 %
phtphg)” puipubh dwpwptitiph 85% | wwpniuwlnpiudp (puadpul
quiugquouyghu pwduhg yuljuu 50%, yhuljng 50%)" hwgniuwnh
wupmuwympyudp” dwupwdwju wpununnnipywiu hudwp (dnipphuw,

5206430000 Juiunph huttiup sprudutbdpupub, Uq 10 000 Pnynuiphu 38 200 000

thuwpety twinfwdph huiup 232,56 nhgh-
wtipuhg wwljuu, puyg 192,31 ighwtipuhg
ng wwljuu gouwghn fjunnipyudp (Uhwpty
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dwuwoph hudwp dbinpujwiu
43 hudwphg pwpap, puyg 52 hudwphg
ng pundn)
8. Puripujti wujwiodp (puugh Juph Pudpwh vwupwehytinhg
phtnhg) pudpwulh dwipuetytiph 85 % | dwinfwop” hwgniuwnh (dnipphu,
>207100000 quiugyudughu pudhu Yud npuuhg wpununpnpjuu hudwp (100% 4g 10000 fnynuphw 2> 000000
witgh wupniuwlniejudp pudpuly)
9. Uhuptanhl hudwghp plybn (pugh Yuph | “Utginuh ply” hwugmuwnh
phtnhg) dwipwodwfu Juwdwnph hudwp | wpmumpnipywit hudwp
spudutdpunud” utipunyuy 67 (dnipphuw,
5402610000 nbightbipuhg wulu gduhu lq 10 000 Pnuynuphu 5 850 000
Jutnmpjunip uhuptanhl dhwyetytpp.
utginuhg Guad wy) wnjhwidhnutiphg
10. Uhuptinhl wnwiduwphytn' 67 (Ot hwgnunh
ntighntipu Jud npuwithg wytgh gdught | wipmumpmipywiu hunfwp' 50%
funnipyudp tn 1 Ud-hg ng uagh pudpwlh b 50% wnhbptipughu
wytwljuiu hunngwopny. hwpge twiupu (Gnipphw,
5404190000 Lnqulgl o Iahllé[l ?fp]iwll‘ma qwglnmpul;ﬂlgjw i Uq 10 000 anﬁlﬁhw 9700 000
wnhtiunwljuiu dnnun) uhuptinhy
dwitwdwgnpdwlui Wniptiphg' 5 dd-hg
ny wytih uyunipyudp
11. Uwiujwodp uhuptinhy dwupwetytphg Uhuptunhy phytn 100% wyphit
(pwgh Yuph plytiphg)” dwiupwdwiu Uwiipupltinhg” hwgnuwh
Jwwnph hwdwp spudutiopupud wnuwnpnpywu hudwp
(utginuhg Yud wyj wnihudhntmhg, [@mpphu,
5509320000 uitpuptytph 85% quinguoughu Uq 20 000 Pnynuiphu 58 200 000
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12. Uwiujwodp uhuptinhy dwiupwetitphg Uwiujwop uhuptanhy b ppryw
(pwgh Yuph plytphg) dimhnmbmtu 18'111'11[111 fuwunumpn plitphg o
widwnph hudwp spudutdpupud uhuptanhly 70%, pmpn 30%) nipphuw,
2509610000 &hﬂhmﬁ&hmﬂ q&sppulgmipuuibu ppnh i1£ql§1uml]11uwpmulinr}pliﬁp]w& 4q 20000 Pnllr{lighul 82000 000
Jud Ytunwuhutiph umpp ppnh htn hudwp
Juunuwod)
13. Uwiijudp uhuptnhl dwupwplyinhg Uwujwodp uhuptunhy b ppyw
(pwgh Yyuph plytiphg)” dwiupwdwiu phItph Juwnunipnhg o
wiawnph hudwn spudutidopuupud uhuptanhly 80%, pnipn 20%) nipphw,
2309610000 thuumﬁ&umu q&sppmgulipmlﬁhu pnnh ilgqlzluml;lqmpmmp:l}pﬂpjm‘li 4q 20000 anr{lulighul 74200 000
Juud Yunuuhutiph umpp ppnh htn hudwp
fuunuwd)
14. Uwiijudp uhuptnhl dwupwelyinhg Uwiujwop uhuptinhy b ppryw
(pwﬁgh llwrgl Izhllmhg ) dl;uéhpwbwgu Iahlifnl;;uwrg:)n/lmhg o N
widwunph hudwn $pu wnu u %, L %) wnwhuw,
2209610000 &hﬂhmﬁ&hmﬂ q&%ppmgw?mihu pnnh ilwhqlzluml;lqumuﬁnq;lnrfp]w‘d 4g 20000 [lmmullllllhul 110000 000
Juud hunuuhutiph unpp ppnh htn hudwp
fuunuwd)
15. Uwiijwodp uhuptnhl dwupwehytinhg Uwiujwop uhuptunhy b
(pwgh Yuph plytiphg)” dwupwdwiu puipulyw plytph @npphuw
5509620000 | Juwnph hwdwp spudutdpupud fuwnumpnhg (uhuptnhy 50%, Uq 5000 Rnllquhl;.l 19 100 000
(hpduwuiumd jud pugunuwtiu pudpuly 50%)° hwgniuwnh
pudpuyt vwupwptyinh htn fuwnuwd) | wpmunpnipjuu hudwnp
16. Uwiijuodp wphtunwjuiu Uwiujwop wphtumwljuu
ngpwlgilhnhg (pugh l}llulr&h pltnhg) ﬂw‘llflu;lahlh[&hg (puquumninp
wiluu widwnph hudw ninpniu) jud dhwnn
5510120000 zpul(glhb‘pliupib. pwggwnlnp (rllrl[npm‘u) fh}ﬂ{‘lfwbg ( 97‘021 qjlulng, 2, Uq 5 000 huuwhw 30 500 000
Jud dhwninp dwuywop Ljuunwiu)' hwgniunh

wnunwnpnpjwu hwdwp
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17. Uwiijwop wphtunwljuiu Uwiujwop wphtunwljuiu
uwinuptytphg (pugh Yuph plytiphg)” | dwupwebytphg (puqiwnnp
dwupudwju yutwnph hwdwnp (mnpniu) Jud dhwnnp (nmpphu,
>>10120000 spudubidpupud. puquunnp (nnpniu) dwugwidp) (97% Yhulng, 3% 4q > 000 fnynuphw 28 500 000
Jud dhwnnp dwiuguop Ljuunwiu)' hwgmuwnh
wnununpnipjwu hudwnp
18. Uwiijuodp wphtunwljuiu Uwujwodp wphtumwljuiu
uwiupuptytphg (pugh Yuph plitphg)’ | dwupwelytphg (puqiwnnp
dwipwowfu yudwnph hudwp (mnpmu) ud dhwnnp (dnipphuw,
>>10120000 spudubidpunud. puquunnp (nnpniu) dwuwop) (50% wynhy, 50% g 10000 fnynuphw 36400000
Jud dhunnp dwuywodp yhulnq)’ hwgniunh
wpununpnpjwu hudwp
19. UnGuljutp’ wjuwuumiwuuughg, wnwiug Unauljutin” hwgniunmh hundwp (dnipphuw,
9606210000 duitwdwgnpdwlw wunnyuwdph Uq 800 Pnuynuphu 12 000 000
Cunwdbiup 663 484 200
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